1. Consider a shop that produces bagels in a monopolistically competitive market. The graph below shows its demand curve (labeled Demand), marginal revenue curve (labeled MR), marginal cost curve (labeled MC), and average cost curve (labeled AC). Assume that the company is operating in the short run. 

A. The profit-maximizing level of output is _____ bagels at a price of ______ each. ( 500, $2.50; 400, .50; 700, $1.00; 500, $1.00; 400, $$2.50; 400, $1.50)

Taking the profit-maximizing level of output and price into account, the shop's profit equals ______.( $1000, $500, $600 or $400)

	Top of Form

Which of the following statements best describes the size of the market for bagels? Relative to the long-run 

equilibrium, there are: (An efficient number of shops. Too many shops in the industry. Or Too few shops in 

the industry.)
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2. In which of the following market structures do firms produce at an output level that displays both allocative and productive efficiency? 

Perfect competition 
II. Monopolistic competition 
III. Monopoly 
IV. Oligopoly

3. The table below shows the four-firm concentration ratio of various industries. 

	Industry
	Four-Firm Concentration Ratio
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	Petroleum and coal products
	34.1

	Coffee and tea manufacturing
	52.5

	Cigarettes
	98.9

	Plastics and rubber product manufacturing
	10.5

	Aerospace product and parts
	55.6
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	Source: U.S. Census Bureau, 1997 Economic Census -- Concentration Ratios in Manufacturing


Which of the following industries is the closest to perfect competition? (Plastics and rubber product manufacturing, Cigarettes, Coffee and tea manufacturing, Petroleum and coal products or Aerospace product and parts)

4. Consider a town in which only two residents, Mike and Leah, own wells that produce water safe for drinking. Mike and Leah can pump and sell as much water as they want at no cost. For them, revenue equals profit. The table below shows the town's demand schedule for water.
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	Price (Dollars)
	Quantity (Gallons)
	Total Profit (Dollars)
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	$0
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	$110
	10
	$1,100
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	$100
	20
	$2,000
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	$90
	30
	$2,700
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	$80
	40
	$3,200
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	$70
	50
	$3,500
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	$60
	60
	$3,600
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	$50
	70
	$3,500
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	80
	$3,200
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	$30
	90
	$2,700
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	$20
	100
	$2,000
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	$10
	110
	$1,100
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	120
	$0
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If the market for water were perfectly competitive, the equilibrium price of water would be ____ per gallon, and the market output would be ______ gallons. ($0; 120, $120; 0, $100; 20 or $60; 60)

	
	

	Mike and Leah form a cartel and behave as a monopolist. Now the profit-maximizing price is ____, 

and the total output is _____ gallons. ($60; 60, $120; 0, $100; 20, $0, 60; or $0, 120)


	


As part of their cartel agreement, Mike and Leah agree to split production equally. 

Mike's profit is ______, and Leah's profit is _______. ($1,600; $1,600, $1,000; $1,000, $1,800; $1,800 or $1,200; $1,200)

Suppose that Mike and Leah have been successfully operating as a cartel. They each charge the monopoly price and sell half of the monopoly quantity. Then one night before going to sleep, Mike says to himself, "Leah and I aren't the best of friends anyway. If I increase my production by 10 gallons more than the cartel amount, I can increase my profit even though her profit goes down. I will do that starting tomorrow." After implementing his new plan, Mike's profit becomes ______, and total profit (the sum of the profits of Mike and Leah) becomes _______. (Hint: if Mike increases his quantity, total market quantity will increase, which in turn will affect the market price of water.) ($1,600; $3,200, $3,500; $5,300, $3,600; $0 or $2,000; $3,500)

Because Mike has deviated from the cartel agreement and increased his output of water by 10 gallons more than the cartel amount, Leah decides that she too will increase her production by 10 gallons more than the cartel amount. After Leah increases her production, Mike's profit becomes _______, and Leah's profit becomes _______. (Hint: if Mike and Leah increase their production levels, total market quantity will increase, which in turn will affect the market price of water.) ($1,800; $1,800, $1,400; $1,800, $1,600; $1,600 or $2,000; $2,000)

5. Consider the market for Picasso paintings. Assume that there are four galleries that sell Picasso paintings and they have formed a cartel. Suppose there are a limited number of Picasso paintings in existence, making it difficult for new galleries to acquire Picasso paintings and enter this market. What effect does this have on the sustainability of the cartel? (This has no effect on the sustainability of the cartel., This makes the cartel less sustainable. Or This makes the cartel more sustainable.)

6. Smart Light is one of four firms that sell desk lamps. The graph below shows Smart Light's kinked demand curve (D1D2) and the resulting marginal revenue curve (MR1MR2). The graph also shows two possible marginal cost curves (MC1 and MC2). Assume Smart Light's marginal cost is represented by MC1.
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Smart Light will set a profit-maximizing price of: ($15, $12, $10 or $7)

If Smart Light increased its profit-maximizing price, Smart Light's competitors will: (Decrease their prices, Keep their prices unchanged, Match the price increase or Increase their prices by more than Smart Light's price increase)

Which of the following statements is true? (The D1 portion of the kinked demand curve is relatively more elastic than the D2 portion., The D1 portion of the kinked demand curve is relatively less elastic (more inelastic) than the D2 portion. Or The D1 and D2 portions of the kinked demand curve have about the same elasticity.)

If Smart Light's marginal cost increased from MC1 to MC2 on the graph: (Smart Light will increase its price by $2, Smart Light will increase its price by $3, Smart Light will not change its price or Smart Light will decrease its price by $3)

7. There are only two firms that sell camera phones, Flashtech and Pictone. The payoff matrix below shows the profits (in millions of dollars) each company will earn depending on whether it sets a high or low price for its phones. For example, the lower-left cell shows that if Flashtech prices low and Pictone prices high, Flashtech will earn a profit of $10 million and Pictone will earn a profit of $3 million.

	
	Pictone
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	Flashtech  
	
	High Price   
	
	8 , 8 
	
	3 , 10 
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Flashtech and Pictone are both profit-maximizing firms.

Each firm earns a profit of $8 million when: (Flashtech and Pictone both price low, Flashtech prices low and Pictone prices high, Flashtech prices high and Pictone prices low or Flashtech and Pictone both price high)

If Flashtech prices high, Pictone makes more profits if it chooses a____, and if Flashtech prices low, Pictone makes more profits if it chooses a _____. (High price; high price, Low price; high price, High price; low price or Low price; low price) 

If Pictone prices high, Flashtech makes more profit if it chooses a____, and if Pictone prices low, Flashtech makes more profit if it chooses a _____. (Low price; high price, High price; high price, High price; low price or Low price; low price)

If the firms do not collude, what will they end up choosing? (Flashtech will choose a low price and Pictone will choose a high price, Both Flashtech and Pictone will choose a high price, Both Flashtech and Pictone will choose a low price, or Flashtech will choose a high price and Pictone will choose a low price)

True or False: The game between Flashtech and Pictone is an example of the prisoners' dilemma.

